H=1 C=12 N=14 O0O=16

(A) (B) © (D)

. N 14
(A)14 N 1 (B) 14 N 96500
©1 N 14 (D) 6.02x 102® N 14
(A) (B) © (D)
(A) CO (B) Oz (C) N2 (D) Hz
0 1 1 1.25
R=0.082atm L/mol K
(A) CHg (B) CoHy (C) C3He (D) C4H10
) o ®)
© (D)
pH
(A) P4O10 (B) N&O (C) SO3 (D) CO
15 [CO(NH2).] 1.0
M
(A) 5.10 (B) 3.82 (C) 2.94 (D) 2.50
(A) NaCl (B) KMnOy4 (C) Na,COs (D) KNOs
. Na K Na K
(A) (B) ©) (D)
(A) (B)
©) (D)



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

N2 g 3Hzgq — 2NHz 4 9L5kJ
(A) (B) (®
(A) (B) (®
(A) NH3 (B) HF (C)TMJOOH

NaOH CH3COOH
(A) (B) (®
10 02N H,SO, 0.IN NaOH

(A)5 (B) 10 (C) 20

Fe® MnO; H -F& MrP H,0O
(A) F€? (B) MnOy,4 (O H

17

(A) 24 (B) 20 (C) 18
(A) Cl (B) NaOH (C) H,
(A) (B)
© (D)
(A) o (B)
© (D)
(A) (B) ©
(A)6 (B) 4 (©)2

NH3 g

(D) NZ g

(D)

(D) HNOs

(D)

(D) 40

(D) H0

(D) 17

(D) N2

(D)

(D) 1



24,

25.

26.

27.

28.

29.

30.

(A) (B) ©
(A) (B) (©)
25 2 50
(A) (B)
© (®))
t X
XA A A
:t :‘t
(A) (B) ©
1 10
4
(A) 0.6 (B) 0.9 (C) 1.2
m
t
(A) mv (B) ¥mv ©) mv t
(A)
(B)
©
(D)
8 4

(D)
(D)
/
g=10 /
(D) 4.8
(D) }é mv t



31

32.

33.

35.

(A) 2
(C) 10

(A)
(B)

(®)
(D)

(A) 100

© 95

(A) g+w

w+ 2N

© 2Cosq

(A) 15000

10
30°

(B) 45000

(B) 5
(D) 20

(B) 200

© 25

w+2W
23Snq
w+ 2W
2tanq

(B)

(D)

60

(C) 60000

SER
FELEEARRE .I'..:"))-vz.—'.-).-.l'.l'.l'.l'.l'..f)-"-']

00

45

(D) 105000



36.

37.

38.

39.

40.

41.

42.

(A)

(B) 0

(®)
(D)

/
(A) 14600

100

30
(A) 0.113

(A)
(B)

(©) A

(D)

(A)
(B)
(®)
(D)

1.54
(A) 0.42

(A)

(B)

(©)
(D)

37
20
055 /
(B) 7300
210
200
(B) 0.199
f %
Doppler effect
(B) 0.65
20

20
20

66.6

20

(C) 3820

/
(C) 0.217

r

(C) 0.81
10

100
80 / 539
(D) 2220
20
300
0.093 /
(D) 0.267
Sin
(D) 0.93



43.

45.

46.

47.

48.

49,

50.

Ve
(A) (B) P
©) (D) u
0.53 x 1010 K=9x10° - 22
1 1.60x10°19
(A) 4.35 x 10°18 (B) 4.35 x 10°*° (C) 435x107® (D) 4.35x10%
20 720 110V
1 =36x10°
(A) 0.336 (B) 0.672 (C) 1.008 (D) 1.344
1
® % ® % iy
¢ '—'lﬂ'r—: I—vm.w—l

© % © % | ™ |

|2 I1
(A)
(B) P 1
© I
(D)

0.2 20 1000
M o=4m x10 -7 - /

(A) 2 x 103 (B) 41t x 103 (C) 2t x 10* (D) 41t x 10

100 100 0.5

0.25
(A) 2 B) 5 (C) 20 (D) 50

- 13—26 eV n=123...
n
n=3 n=1 ev

(A) 3.4 (B) 9.0 (C)12.1 (D) 13.6

7 8






